
Fiche d’entrainement Primitives n°2 

𝑓(𝑥) =
3𝑥

(𝑥2−5)4 =………………………………….  

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝐹(𝑥) = ……………………………………………. 

𝑔(𝑥) =
(21𝑥2−98𝑥+84)

(𝑥3−7𝑥2+12𝑥−5)−3  = ………………………………….…………………………………. 

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝐺(𝑥) = ……………………………………………. 

ℎ(𝑥) =
7/𝑥

(ln 𝑥)2 =………………………………….  

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝐻(𝑥) = ……………………………………………. 

𝑖(𝑥) =
7 cos(−3𝑥+4)

sin5(−3𝑥+4)
=………………………………….  

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝐼(𝑥) = ……………………………………………. 

𝑗(𝑥) =
3𝑒2𝑥+5

(𝑒2𝑥+5)10    =………………………………….  

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝐽(𝑥) = ……………………………………………. 

𝑘(𝑥) =
6𝑥+21

√𝑥2+7𝑥+50
=…………………………………. sur ℝ 

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝐾(𝑥) = ……………………………………………. 

𝑙(𝑥) =
8

√7𝑥+3
=…………………………………. sur ] −

3

7
; +∞[ 

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝐿(𝑥) = ……………………………………………. 

𝑚(𝑥) =
𝑒3𝑥

√𝑒3𝑥−5
=…………………………………. sur ]

ln 5

3
; +∞[ 

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝑀(𝑥) = ……………………………………………. 

𝑛(𝑥) =
−5 sin(2𝑥)

√cos(2𝑥)−7
=………………………………….  

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝑁(𝑥) = ……………………………………………. 

𝑜(𝑥) =
𝑥−0,5

√𝑥2−𝑥−20
=…………………………………. sur ] − ∞; −4[  

Je reconnais : ……………………avec 𝑢(𝑥) =…………………… donc 𝑢′(𝑥) =…………………. 

Ainsi 𝑂(𝑥) = ……………………………………………. 


